Model Prediction (G3-16)
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G3-16: ['LfN', 'NdN', "TsN', 'tgtLfN', 'prunLfN']
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G3-16: ['LfA", 'peakTgtLAl']
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G3-16 (plot by DAT)
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Days After Budding

G3-16 TsN1 (plot by DAT)
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Days After Budding

G3-16 TsN2 (plot by DAT)
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G3-16 TsN3 (plot by DAT)
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G3-16 TsN4 (plot by DAT)
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G3-16 TsN5 (plot by DAT)
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G3-16 TsN6 (plot by DAT)
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G3-16 (plot by adjDAT)

80

60

Days After Transplant

40

20

T
1
? e
o
-T--“#-J
L.Q“_l 1
P * -
L. % Ly ¢
4 _.|. ®
! |, ‘-@ |
“ww |4o ‘e ~ .
r|1 . 1 L
% e Le | _'?
“W o ! 1 - L-@
‘ _HI.‘nlnw .ﬂ .ﬂ _..* _I.
1 _W .lﬂ ..|4 _r|0 “
“ 5 - S P, |
-—-—-@ P -o L “I I _.*
_l. _I .‘.‘ .‘ * 1
1 I L 1 | 1
Y e e T,
Lo Lo 1, iy T
e e TP, T, !
_4 _%_ ‘e ‘o t-—-e
T e L m "
L= _I |
Te 1o e
‘e Lo _4_ m
| “ Lo
-® - l__!
L9 l9 M_IIII..
.ﬂ.‘ .ﬂ._&“
g
......................... SRS E—
e
g
“_f---o
! [@)]
! c
I 5
! o
1 >
| P m

Buippng a1y sAeqg



Days After Budding

G3-16 TsN1 (plot by adjDAT)
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Days After Budding

G3-16 TsN2 (plot by adjDAT)
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G3-16 TsN3 (plot by adjDAT)
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Days After Budding

G3-16 TsN4 (plot by adjDAT)
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G3-16 TsN5 (plot by adjDAT)
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G3-16 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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